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Physics Math Practice 2
Show ALL work and use correct units!!

1.  An object travels 25m in 10s.  What was its speed?

2.  The distance from your bus stop to school is 15km.  From the time you are picked up, it takes 0.25 hours to get to school.  What is the average speed of the bus from your bus stop to school? 
3.  A car driving at 20 m/s speeds up to 50 m/s in 6 seconds.  What was the car’s acceleration?

4.  Justin rides his snowmobile at a speed of 20 m/s and runs into a tree, so his speed drops to 0 m/s in 0.25s.  What is the acceleration of Justin’s face when it hits the tree?
5.  A 100-kg cannonball is fired from a cannon at a final speed of 300 m/s.  

a.  How much momentum does the cannonball have as it leaves the cannon?


b.  If the cannonball takes 0.05 seconds to leave the cannon after the explosion, 
                 what is the cannonball’s acceleration?  (Hint: What is the final and initial 
                                                                                               speed of the cannonball?)
6.  A 500,000-kg train strikes a 5,000-kg car on the tracks.  Use this information below.
                         a. If the speed of the train is 1.5 m/s, what is its momentum?  
                         b. If the car was traveling at a speed of 10 m/s, what was its momentum?
7.  The M-82 sniper rifle fires a single round at a target 450m away.  The bullet reaches its target in 0.5 seconds.  


a.  What is the bullet speed for this rifle?


b.  The speed of sound is 340 m/s.  How much time will it take the target to hear 
                      the rifle fire from a distance of 450m?  

c.  Which reaches the target first—the bullet or the sound?  By how much time?
8.  A car with a mass of 2,000 kg is traveling at a speed of 35 m/s.  A deer with a mass of 54 kg is standing still in the middle of the road.  


a.  What is the car’s momentum before the collision?


b.  What is the deer’s momentum before the collision?

After the car strikes the deer, the car’s speed is 34 m/s and the deer’s body is launched at a speed of 37.04 m/s.


c.  What is the car’s momentum after the collision?


d.  What is the deer’s momentum after the collision?  (Round to the nearest 
                                                                                                                          whole number.)


e.  Add the momentum of the car and the deer after the collision (Part c and d).  
                       How does this total compare with your answer to part 8a?
